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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In spite of growing in the same environment. there may be vast differences in
the various developments of individuals because development 1s
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Question Number : 2 Question Id : 7150533674 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement relating to developmental tasks
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Accomplishment of developmental tasks leads to good adjustment
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Developmental tasks are Cognitive, Affective and Conative
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Developmental tasks are not age specific
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Correct Marks : 1 Wrong Marks : 0
A 10 year old girl who could not satisfy her teacher with her performance

started to look down upon herself. According to Erickson. the child may
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Question Number : 4 Question Id : 7150533676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Given below are four statements made by a teacher about her students.

Identify the statement that may lead to improper self concept among them
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These few students can never ever learn and come on par with other students
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I am fed up with the noise these students are making in the class
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I observed that parents of some students are not caring as to what their

children are learning
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Question Number : 5 Question Id : 7150533677 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The ‘self’ 1s the important concept in this psychologist’s theory of personality

i

o & Y, w - -'-‘r. |’-'L o oy
L 5R der ePa) D8 THaE g, SrdHE: Hrrosed” Hdd' o6 S0 TR EPEIN
oo = = e = Q o

Options:

Freud

aronk
1. %

Erikson

BES
2, ® .

Cattell

"w:-i'}-.nf
3. ¥ N

Rogers

( 31
o
)

4.‘5? = 'r:.-



Question Number : 6 Question Id : 7150533678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the concept of ‘Zone of Proximal Development” put forth by
Vygotsky, the syllabus planned for a particular academic year should be such

that students should be able to do them
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Vishnu read a story from Ramayanam and then from Mahabharatam. When
his mother asked him a question in the story of Ramayanam, he was replying
from the story of Mahabharatam. This is
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A school replicating the socio - political context of country strives for
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A)  Reducing educational inequality
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B) Overall development of all learners
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C) Preparing students for democratic society
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D) Encouraging categt}rizatiml of society based on age old practices
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Question Number : 9 Question Id : 7150533681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
One of the following is a traditional concept of teaching
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Options :

Tenching 1s Imparting knowledge
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Teaching is an interactive process
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Teaching is a planned activity
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Teaching is fa cilitating

Question Number : 10 Question Id : 7150533682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Musical notations are an example of this mode of representation as per

Bruner’s theory
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Question Number : 11 Question Id : 7150533683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the disadvantages of Technology as a learning resource among the
following
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AB&C only
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A, B& Donly
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Question Number : 12 Question Id : 7150533684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under the POCSO Act. the offence 1s termed ‘aggravated’ when 1t 15 conducted

by
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Question Number : 13 Question Id : 7150533685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person who belongs to a family of musicians determined to make his two
vear old daughter a renowned musician. The basic thing he should pay

attention to start with 12
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L e -y, e N - WL ¥ Y TR AT L S =l 0
2o ddiide erdoflodterl a8 S Ksudho =550 Jeddo

Admit her in an exclusive music school ignoring admission in regular

school
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Wait till the girl attains maturity to learn music
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Correct Marks : 1 Wrong Marks : 0



‘Learning by conditioning’ 1s more suitable in case of
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Question Number : 15 Question Id : 7150533687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A small child who 13 growing up in a well cultured joint family greets all elders

politely and he showed the same behaviour with teachers and other parents.

The transfer of learning that took place 13
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Negative
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Question Number : 16 Question Id : 7150533688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Students are motivated towards the concept to be learnt in this phase of

teaching
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Summarizing
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Question Number : 17 Question Id : 7150533689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Harish 1s a teacher who prefers an orderly environment, will not accept the

views of students by impﬂsing restrictions on them. His leadership style 1s
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Question Number : 18 Question Id : 7150533690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Identify the personal factors of learning with respect to learner
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Question Number : 19 Question Id : 7150533691 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0



Below are given certain needs of a person. Arrange them in hierarchy as per
Maslow’s hierarchy of needs.
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B)  need for water
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Question Number : 20 Question Id : 7150533692 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A child was given a ball of clay and 1s told to play with it. The child rolled 1t
out into a ‘rope’ of clay. The child said that the rope of clay is greater in mass

than ball of elay. The child is in this stage of cognitive development according

to Piaget.
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Question Number : 21 Question Id : 7150533693 Question Type : MCQ Option Shuffling : Yes Is
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According to the Kohl Berg's theory of moral development, a person develops
his own moral values based on 1deals rather than social commitments and

norms in this stage
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



From the following. identify the processes that indicate learning occurred
among students
208 77 ool Slﬁ"ﬁiﬂ:tﬂ-f B oe
A} Acqusition of new skills
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B)  Improvement of earlier learnt skills
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An elementary school teacher wanted to conduct an experimental study on ‘the
impact of teaching methods A and B on the scholastic achievement of sixth

grade children’. Here, the dependent variable 15
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Question Number : 24 Question Id : 7150533696 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Generally stress and storm in adolescence stage 1s due to
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Imitation of others behaviour
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Question Number : 25 Question Id : 7150533697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A person got teacher job. He likes teaching profession but unable to decide

whether to join or not thinking that he may need to retire from service

without any promotions as opportunities for promotions 1s meager. The conflict

being faced by the person 1s
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Approach — Avoidance
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Question Number : 26 Question Id : 7150533698 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement with regard to relearning
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Relearning takes more time than previous learning
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Relearning takes less number of trials than learning for the first time
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Relearning provides opportunity for better understanding of the learnt

material
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Relearning may enhance recall
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Question Number : 27 Question Id : 7150533699 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This 1s known as R — S Conditioning Theory
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From the follﬁwing. identify the statement that indicates socio —emotional act

o # .z o

L [y
= - -
QOEJ 8 snol, ,;T_:E %E el -.'\L rPLog &

25 0d D fBoBod

f" ||-_\.

Options :

child standing with support
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Question Number : 29 Question Id : 7150533701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Right to Education Act. 2009, the appointing authority shall ensure

that vacancy of teacher in a school under its control shall not exceed this

percent of the total sanctioned strength.

Doy Py o, 2009 @o, APHE i &5 I ogndt &%) Fiwedt

BarEdine plen Zndo Hoe=0s TS & @) hoshore PhEiard.
Options:

20%
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Question Number : 30 Question Id : 7150533702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to NCF, 2005, schools must be marked by the values of
NCF, 2005 gseo, arareen $:50:50m & Jended Hbodamd
Al Equality
DEPRdEC
B) Social Justice
FEPRE D ;C‘f)o
C) Respect for diversity
Sagr8 Moo
D) Dignity and Rights of children
oo 8o bdn iy en

Options :
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ABC&D
v

A B & Donly
A, B & Dirgad

Language I Telugu
Section Id : 715053107
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053179
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150533703 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150533704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150533705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150533706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150533707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150533708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053180
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150533709 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 7150533710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150533711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150533712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150533713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150533714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 715053181
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 7150533715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150533716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150533717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150533718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150533719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 7150533720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150533721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id
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: 7150533722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

e e el [ ST
aloliodl oLl e
X

Options :

e
o S
£h
Eﬂ
UR
i

L
3



Question Number : 49 Question Id : 7150533723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150533724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150533725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150533726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150533727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150533728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150533729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150533730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ARS8 ATeye FRS0E’, Srds Hiireod” grd O

-.'_,.

oy oy o [T IR0 N o SO B (L e Lo on® ZOE. L ey
,.;Fi-':' o}Ool® c. 8 25000 ariirs) Orf) H038 Hantrdlo &Pol . Eied BE)ain PolPclfd

Options :

= o wt
TRaot o,c“:‘u
1. %
WD = —y
9298
=] L]
2.9
B wfowt D
o ound b'c_,xc:?_‘EJ.»
3 H l.".-ﬁ_ o

= = &
chE, S5 6
o ol T¥%eld o)

4, %

Question Number : 57 Question Id : 7150533731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150533732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150533733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150533734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

SectionId: 715053108
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053182
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150533735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct option

for each question.

The best way of understanding our own civilisation s to take an ordinary sort of day
the life of an ordinary sort of man. myself for instance. and to see what he does, My home 15 1n
London. I get up 1 the morning when an alarm clock rings on the table by my bed. It 15 quite a
complicated machine and works perfectly. I get to a hot bath. the water for which has been
heated by gas. The gas 1s supplied to me by the Gas Board for the area in which I live; it 1s part
of a national system. The water is supplied by the City Water Board. After bathing. I shave-the

water for my shave comes from a kettle which has been heated by electricity.

Sub questions

Question Number : 61 Question Id : 7150533736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What 1s the author's suggestion for understanding civilization?
Options :

Studying historical documents

> % Analyzing extraordinary events

Examining an ordinary day in the life of an ordinary person

Traveling to different countries
4, %

Question Number : 62 Question Id : 7150533737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Where does the author live?
Options:
Paris

1. %

5 London

New York
%

Rome

Question Number : 63 Question Id : 7150533738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

How 1s the machine described 1n the text functioning?
Options:

It 1s maltunctioning.

It works intermittently.

It works perfectly.
3 ¥ works pertectly

It does not work at all.
4, %



Question Number : 64 Question Id : 7150533739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What heats the water for shaving as mentioned in the text?
Options:

Gas

1. %

Electricity

Coal

Biomass

Question Number : 65 Question Id : 7150533740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The 'complicated machine' in the passage refers to

Options:

An electric kettle

A safety razor

An alarm clock



(Gas

Sub-Section Number : 2
Sub-Section Id : 715053183
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150533741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
I'm a teacher.

Choose the correct question tag to complete the sentence.
Options :
aren’t I?

1.

amn’t I?

am 17
3. ®

4 % arel?

Question Number : 67 Question Id : 7150533742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



I can’t put up with his behaviour anymore.

The expression “put up with” means:
Options :

1 & endure

5 % forgive

WOrTy
3. % ’

cscapc

Question Number : 68 Question Id : 7150533743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Meena is than Junaa.

Choose the correct option to complete the sentence.
Options:

the beautiful

more beautiful

most beautiful

» beautiful



Question Number : 69 Question Id : 7150533744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In letter writing format. a title *‘Dear Sir’ is an example of
Options :

Body of the letter
1. %

5> Salutation

Subscription

Superscription
% perscrip

Question Number : 70 Question Id : 7150533745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which of the following words 1s ‘b’ pronounced?

Options :

Climbed
S

5> % Doubt

3 @ Cupboard



Debt

Question Number : 71 Question Id : 7150533746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The son decided to beseech his parents to stay with him.

Identify the main verb in the sentence.
Options :

with

stay

beseech

decided

Question Number : 72 Question Id : 7150533747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
She the town several days ago.

Choose the correct verb form to fill in the given blank.

Options:



leaves

le

had left

has left

Question Number : 73 Question Id : 7150533748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

She has decided to confide her doctor.

Choose the correct preposition to fill in the given blank.
Options :

1 % about

for

m

at

Question Number : 74 Question Id : 7150533749 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

She attended the class yesterday:.

Choose the part of speech of the word “yesterday™.
Options:

1. % Noun

5 % Adjective

3 ¢ Adverb

4 % Conjunction

Question Number : 75 Question Id : 7150533750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I have already reiterated my stand.
Choose the synonym of the word “reiterated”.
Options :

repeated
1.¢

5 % changed

. published



4 % furthered

Question Number : 76 Question Id : 7150533751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I watch mowvies once 1 a blue moon.

Choose the meaning of the expression “once in a blue moon™.
Options :

., Regularly

Daily
% 3

very rarely
3 v VEIYTAED

day after day
4, %

Question Number : 77 Question Id : 7150533752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s that T wanted.

Choose the correct option to complete the sentence.
Options :

d sallnc pen
1. %



the same pen

41l saie peil
3. %

sa1lle peil
4, %

Question Number : 78 Question Id : 7150533753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

All the furniture have beensent  to the new office.
A B D

Options :

Question Number : 79 Question Id : 7150533754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the word with the correct spelling.
Options :

1. % Vacuune

2 % vacuin

Vacail

Vacuuinmn

Question Number : 80 Question Id : 7150533755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mother looks at their babies,

Identify the appropriate option to fill in the blank.

Options :

gentlier

gent

gently

~ gentiest
4, % -



Question Number : 81 Question Id : 7150533756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This year, the state received scanty rainfall.

Choose the meaning of the word “scanty™.
Options :

_— heavy

full

3 ¥ msufficient

horrible

Question Number : 82 Question Id : 7150533757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

1t rains. the match will be postponed.
Options :
So

1. %

5 % And



It

" But

Question Number : 83 Question Id : 7150533758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct passive sentence.
Options :

He will write a letter.

I give you ten rupees.

Let me not be mistaken.

The book had given by her.
4, % :

Question Number : 84 Question Id : 7150533759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.
software / no/ are / this/ in/ new/ features / There
Options :

1.



w There software, this are no new features in.

There are new features mn this software no.

2. %

There are features in this no new software.

There are no new features in this software.

Question Number : 85 Question Id

: 7150533760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These tests are designed to measure learner’s ability to use language which they are

expected to use at a given level.
Options:

Achievement Tests

Proficiency Tests
v )

Diagnostic Tests

Placement Tests

Question Number : 86 Question Id

: 7150533761 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Children with learning difficulties cannot be dealt with.by using the following strategy.

Options :

Ensure that the children are attentive before starting a discussion or conversation.
1. %

5 % When correcting errors. act tactfully without being rude.

Provide no extra response time to the children with learning difficulties.
3. %

, Use natural gestures to provide additional cues about what you want children to do.

Question Number : 87 Question Id : 7150533762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following is a learning difficulty at the upper primary level
Options :

Unable to blend sounds to make words
1. %

i Trouble in learning the alphabet

Trouble with open ended questions



4 % Dafficulty in rthyming

Question Number : 88 Question Id : 7150533763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main purpose of teaching poetry 1s to

Options :
develop comprehension.

1. %

. emphasize the use of grammar.

extend the knowledge of vocabulary.
3 %

4 evoke enjoyment and appreciation.

Question Number : 89 Question Id : 7150533764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In English teaching and learning process, grammar should be taught by
Options :

encouraging the learners to follow standard grammar books.

u giving more frequent and repeated practice in grammar rules.



enabling the learners to practice the grammar in context,

explaining the rules of the grammar 1n detail.
4, %

Question Number : 90 Question Id : 7150533765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The branch of linguistics that deals with speech sounds 1s known as

Options :

honetics
1.4 P )
) % syntax

morphology
4 % lexis
Social Studies

Section Id : 715053109
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
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Sub-Section Id : 715053184
Question Shuffling Allowed : Yes
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Question Number : 91 Question Id : 7150533766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘X' is living in a city located on 0° longitudes. Whereas, ‘Y' is living in a city

located on 180° longitude. The time difference between ‘X' and *Y' is

S = F T e ST T S WO Ry 1@ 3 ooy 2 T 4
X' 00 Sorodon &% Biidos AR, of o Y 1800 Berodon &%

=

LT TP < - - NV + SO . A & R ST T Ty ST S
bxTalelels! .';-:.‘?ru-ru;_-w":‘f:u..'. X' &8dn ‘Y e a0t fier mend h&l‘_‘? "red0
Options:

24 hours

24 Hoéen

0 hours

0 Hoéien



12 hours

12 Hodaen

\"{2

Question Number : 92 Question Id : 7150533767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following, these sources provide direct knowledge about the

interior of the earth

e
]

;
BT o A & i e
ob FEE", & Arorrre Prdh Voo (D80 RHEF ePTPR) Bohron

£

-

Deep Drilling Projects

B) Volcanic Eruptions

'~->-.| r?" aoh -:“_'-'D.o -

&0
'-:-' L Tl A

C) Temperature in the interior of the earth

D) Atmospheric Pressure and Density of the material
HIrdo @nE) FErsde oo B FPotiE

Chooze the correct answer

:Elgﬁx P00 -::CILA“S D"R
Options :

A.B & C only
A, B & Csrga

AB.C&D

A & Bonly

3 ¥ A&B S8



B & D only

4 B & D irga

Question Number : 93 Question Id : 7150533768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On the earth. the greatest portion of the fresh water (69 56% ) 1s in the form of
3 G50l HodNBS*, 8868 trifo (69.56%) & SrHost sotnobd
Options :

Fresh ground waters
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i
ve30 SN0, 830PeD
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Water concentrated 1n lakes and reservoirs

£ 2065
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Water concentrated in rivers and lakes

3 % $hen HBaM H8Enes® BodsES %

Ice and permanent snow cover in the Antarctica, the Arctic and in the

mount aln ra nges

o
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Question Number : 94 Question Id : 7150533769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The higher we go in troposphere, the lower layer of the atmosphere, the

1 elmnpera ture
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Options :

Increases

Remains constant
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decreases
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Decreases then increases
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4. %

Question Number : 95 Question Id : 7150533770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Byvson and Indus Gorges respectively are in

Pl
o

i

HHBA Hoth A

o



Andhra Pradesh and Jammu and Kashmir

Andhra Pradesh and Himachal Pradesh

':—:‘Oi_ﬁa_.a 5 snha Srar ‘uf"?.gl Lﬁ%

Telangana and Jammu and Kashmir

eolTes $080I ey 5096

(Odizha and Pakistan

Question Number : 96 Question Id : 7150533771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The low pressure belts on the earth are formed at
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Options :

Equat{}rin] and Sub-Polar Regi@u
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Equatorial and Sub-Tropical Region
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Sub-Polar and Polar Region

&5 (0% 08dn hd Frodo

Sub-Tropical and Polar Region

Question Number : 97 Question Id : 7150533772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In these states of India. Rice i1s a commereial crop
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Options :

Punjab and Haryana

2oere) HBdn SrUege

1.4

Odisha and West Bengal

s - T g E
2,537 s0DED D8 e Joirs
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Andhra Pradesh and Telangana
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#
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West Bengal and Andhra Pradesh
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Question Number : 98 Question Id : 7150533773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the largest silk producing state in India is
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Options :

Assam

T
LRl iy | g

IT:'I

Karnataka
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Andhra Pradesh

Jammu & Kashmir
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Question Number : 99 Question Id : 7150533774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The famous Kashmir Valley lies in between
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Options :



Dihang Valley and Pir Panjal Range
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The Zaskar Range and The Mussorie Range
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Question Number : 100 Question Id : 7150533775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These mountains are the reason for summer rains and monsoon type of climate

in regions that are beyond the Western Ghats of India

pen i st el SV o SN0 BT T SER BB Few g
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Options :

The Aravali Mountains

aornd Soaen

The Purvanchal Hills
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roriodie Sobien
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The Eastern Ghats

P v -t:u. SadeeD

The Himﬂln:mn Mountains
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Question Number : 101 Question Id : 7150533776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The positive growth rate of population 1s observed when

ot 0f” Nepdodatoiod

U:K
ﬂi‘i

esER GNE) PaEre $,8 Oén

g

i&} The birth rate 1s less than the death rate
ZotSemrer Oén Zod 25 Béxn @?D;Ju-'flrv E58na0t0

B} The birth rate and the death rate are the same

5% Oén 208065 Hoee Gtn 2.8 Dore &b a3t
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C) The birth rate 1z more than the death rate
Loeare Oéw Bob) 2355 Bén a S =N ey
Choosze the correct answer

r...IB 2 235800 olot DS O"R
Options:

A (gIC Dll]_v

. A &C sr@ad
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B & C only

- B & C srmi@ab
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Question Number : 102 Question Id : 7150533777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These three states of India are sharing the waters of Tungabhadra river
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Options :

Kerala, Karnataka and Tamil Nadu

_— s8¢, 8 :j;r 8 SHbdin g e

Maharashtra, Karnataka and Andhra Pradesh
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Karnataka. Andhra Pradesh and Telangana
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Karnataka, Tamil Nadu and Andhra Pradesh
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Question Number : 103 Question Id : 7150533778 Question Type :

MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These soils are known as ‘Regur” Soils

5 .
X1 Feverdn THE Seven @f) Epre & .
£ deeed ONGT deen @) EPTE @od=dn

Options :

Bed Soils

=

1 % ol Peen

Black Soils

Question Number : 104 Question Id : 7150533779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As the earth revolves around the sun. earth’s axiz remains tilted in the same

direction throughout the year. It keep points to the
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Rigel Kent Star

Pole Star
;gi:'::-‘i ‘:6{%!._‘-60 _i_:?,c::.:l,
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Canopus star
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Capella Star
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Question Number : 105 Question Id : 7150533780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to National Forest Policy of India (1988), to maintain environmental

stability and ecological balance, the total geographical area under tree cover

should be a minimum of
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Question Number : 106 Question Id : 7150533781 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following crop is also known as golden fibre

g T PPANE NV R S S 3 m
So6 R0t ‘Doim™ih oo’ &) 5P godPto

Options :

Question Number : 107 Question Id : 7150533782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From among the following. identify the odd one

[ A £ o -'-\_
Eod mhE”, £, mrdd Mook

Options :

Jute textile

e

1 % l.\.l.'“_,_p_--.'_-\':c':\j

Sugar industry

'l‘.u"‘i D 'r:"luc-.:_,

Fertilizer Industry

aEde D8

Cotton textile

4. %

Question Number : 108 Question Id : 7150533783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the FALSE statement related to demand draft

Aol RS So2ofod 08PN sy DBoPod
Options :

It may sometimes be returned due to insufficient funds by Banks

BA%08 Athen BHothd arjofhen B HAD SBA HodoHHd,

1.9



Bank collects some charges to issue the demand draft
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Demand draft iz an optional money
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Question Number : 109 Question Id : 7150533784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Consider the following statements and find the correct answer from the given
options
5 o
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—"1\; Mild inflation stimulates production as it increases profit margin of

€ IltI‘E"pI‘E‘I'lEU rs

#

) (B8 fra, 30 PBENEIEL Crero DoD&od PP 668 PN

O

B) High inflation hinders production

0B% 55 5e 680 68)68 eboBo EDAm0H
Options :

Only ‘A’ 1s true

Only ‘B’ is true
5 % ‘B’ sirgah 5088



Neither ‘A’ nor ‘B’ are true

3 % ‘A’ HBdn ‘B Sy

Both ‘A’ and ‘B’ are true

‘A’ %8dn ‘B’ Gotlr S5853

4.+

Question Number : 110 Question Id : 7150533785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT the measure of Human Development Index
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Social inequality
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Question Number : 111 Question Id : 7150533786 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
National institute of Nutrition 1= located at
22300 SPNERS How 63 Hiido

Options :

Banglore

EKollkata
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Hyderabad
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Question Number : 112 Question Id : 7150533787 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The aim of World Trade Organisation 1s to
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Options :
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Liberalize international trade
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Bring economic equality in the world
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2. %

Giving support to developing countries economically
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Provide better quality of life for under developed countries
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Question Number : 113 Question Id : 7150533788 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Availability of food grains per person per day is equal to:
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Options :

(Availability of food grains for the year + Population) / 365

(PoBETIS ogfiE88° 61, eiF0 graren + aswrgr) /365

1.¢ N
Availability of food grains for the vear + Population
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Question Number : 114 Question Id : 7150533789 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Hausa Fulani, Igbo and Yeruba are the tribes of this African country
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Options :

Congo
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Question Number : 115 Question Id : 7150533790 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following sector DOES NOT produce any tangible goods
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Options :

Service sector
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Primary sector
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Manufacturing sector
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Question Number : 116 Question Id : 7150533791 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sanskrit word for the Prakrt term Dharma
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Question Number : 117 Question Id : 7150533792 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Odisha, the language spoken by the Bondo tribals is called as
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Question Number : 118 Question Id : 7150533793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following. this Mahajanapadha had a Gana form of Government
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Question Number : 119 Question Id

: 7150533794 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The famous story about a young boy called Nachiketha is from a book called the
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Chandogya Upanishad
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Question Number : 120 Question Id : 7150533795 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The teachings of Buddha and his followers have been compiled in these
collections called
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The Buddha Charita, the Sutta Pitaka and Raja tharangini
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The Sutta Pitaka, the Abhidhamma Pitaka and Vinaya Pitaka
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Rajatharangini, Abhidhamma Pitaka and the Sutta Pitaka
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the Jataka Stories, the Abhidhamma Pitaka and Vinaya Pitaka
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Question Number : 121 Question Id : 7150533796 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the American War of Independence, France helped the colonies against

England because of this rivalry between Britain and France
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in establishing colonial empire
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In establishing democratic form of Government in United States of

America
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Question Number : 122 Question Id : 7150533797 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The religious reform movement which led to the rise of a new section of

Christians called as protestants
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Question Number : 123 Question Id : 7150533798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, this person was appointed by the British East India

Company to oversaw the entire administration in Hyderabad State
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Question Number : 124 Question Id : 7150533799 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



During the first 20 years. the Indian National Congress was led by the leaders
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Question Number : 125 Question Id : 7150533800 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

16t August, 1946 was announced as the ‘Direct Action Day’ by
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Indian National Congress
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Muslhim League
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Congress Working Committee
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Question Number : 126 Question Id

: 7150533801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The last and the most popular ruler of the Qutub Shahi Dynasty was
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Abul Hasan Tanashah

L
eend) sPne ddar

1.4

Abdullah Qutub Shah

e bt
EEDET B)e8e)
-

rl

&1

i
-

Mohd. Qutub Shah

FoiPo)S i 3

4, ®

& z' ’ e P - -,
"o OPesslodo GInE) D6 0odn edo8 Hertiden Srofd arehth



Mohd. Quli Qutub Shah
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Question Number : 127 Question Id : 7150533802 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT option regarding the provisions adapted from

constitutions of different countries
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British Constitution — P:u‘]iamenmry Form of Government
1 % €855 TreProfio - POshoéd @EbEro
French Constitution -  Power of Judicial Review and independence

of the judiciary
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Irish Constitution - Directive Principles of State Policy
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United States Constitution - Charter of Fundamental Rights
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Question Number : 128 Question Id : 7150533803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Right to property’ was deleted from the list of Fundamental Rights by
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the 44®™Amendment Act, 1976
445 20 &0, 1976

the 44" Amendment Act, 1978
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the 428Amendment Act, 1078

425 3 830, 1978

the 422A mendment Act, 1976
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Question Number : 129 Question Id : 7150533804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This article of the Indian Constitution provides an independent Election

Commaissipn
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Article 324
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Question Number : 130 Question Id : 7150533805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The maximum gap between two sessions of Parliament is
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One year
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Nine months
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Question Number : 131 Question Id : 7150533806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about Parliamentary System of Government
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The judiciary is responsible to the par]iament
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The executive 1s responsible to the parliament
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Question Number : 132 Question Id : 7150533807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



This amendment Act 1z the most comprehensive amendment of the Indian

Constitution
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36t amendment Act
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Question Number : 133 Question Id : 7150533808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following is in the concurrent list

S0 IS &3in6 efErd D wodo
Options:
Defensze
OEes
i,

1. &



Railways

Oeiren

National Highways

?
o, O s
sPedl Oerrrdnen

3. %

Education

oy ow
Ot
]

Question Number : 134 Question Id : 7150533809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This article lays down the framework for the establishment of Panchayats at

the village
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Question Number : 135 Question Id : 7150533810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following one 13 NOT an organ of the Unite Nations Organisation
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The World Trade Organization
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The Trusteeship Council
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The Economic and Social Counecil
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The International Court of Justice

Question Number : 136 Question Id : 7150533811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following one 12 NOT a feature of Directive Principles of State Policy
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They promote social. economic and political justice
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They lay down the principles which should guide the government in

framing laws and policies
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They are guarantees to the citizen given by constitution
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Question Number : 137 Question Id : 7150533812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the democracy. political equality 1s required to ensure the following
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Promotion of economic development and prosperity.
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Every citizen has an equal right to vote and participate in decision-

malking.
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Religious freedom for all citizens.
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Freedom to chooze employment and profession
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Question Number : 138 Question Id : 7150533813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following country is NOT a member of commonwealth
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New Zealand

Question Number : 139 Question Id : 7150533814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true related to features of social

studies?
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A) Social studies is a realistic course
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B) Social studies subject 1s a mixture rather than compound
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C) Soecial studies 15 a human study
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AB&C

Question Number : 140 Question Id : 7150533815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The study of life and contributions of Swamy Vivekananda leads to development

of this value in students
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Moral value
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Question Number : 141 Question Id : 7150533816 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Match the following related to cognitive domain based on revised Bloom's
Taxnomy (2001)
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A} Understanding 1) Planning
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B) Remembering 1) Implementation
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C) Applying i)  Classifying
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1v)  Recalling

Choose the correct answer:
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Question Number : 142 Question Id : 7150533817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NCF-2005 focussed on these important aspects /elements for development of
Social Science curriculum
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Content load; pluralities and local contents; Normative duties and inter —

relationship among disciplines
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Question Number : 143 Question Id : 7150533818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement iz NOTTRUE related merits of source

method?
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The use of sources provide certain useful mental exercises
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Source method can satisfy the curiosity among children on the question
‘how do we know this'.
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Question Number : 144 Question Id : 7150533819 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To teach the topic structure of Local bodies’- this chart 1s most suitable
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(Classification chart

Chronology chart
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Tabulation chart
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Question Number : 145 Question Id : 7150533820 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Judgements given by courts’ and ‘the extracts of judgements printed in News

papers’ respectively are this kind of sources
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Options:

Both are primarv sources
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Secondary source, primary source
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Question Number : 146 Question Id : 7150533821 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this step of period plan, the activities like greetings and topic declaration are

taken up

b o ad B epfd [A5E0stn &% TFE0s. 2edBod. Seme- Ll s e .
DBCHE Perds /D055 & FFrdodt. Desbod. ZrTrod PEOD @@
—: AR
trola %:L.

[-x]

Options:

Practice skalls

]

e e T S
edodiEFP s ed) &g o0 L3ONDED

Conceptual understanding - discussion
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Question Number : 147 Question Id : 7150533822 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT TRUE related to micro teaching?
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A) Micro teaching is a training technique rather than teaching technique
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B) Micro teaching is relatively an innovation in the field of teacher education
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C) Micro teaching provides an opportunity to select more skills at a time to
practice by the student — teachers
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Choose the correct answer:
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Question Number : 148 Question Id : 7150533823 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The question ‘write a letter to your district collector on the funetioning of Public

Distribution System (PDS) programme in your village' 1s aimed at achievement

of this academic standard.
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Information skills & project work
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Appreciation and sensitivity
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Question Number : 149 Question Id : 7150533824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The active verb ‘Interpret’ in understanding category 1s an example for this

knowledge dimension
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Options :

Factual knowledge

Meta cognitive knowledge
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Conceptual knowledge
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Question Number : 150 Question Id : 7150533825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘Effective personality’ and knowledge of current affairs’ respectively are these

qualities of a social sclence teacher
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Both are general qualities
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Both are specific qualities
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General quality; specific quality
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